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SET B
DEPARTMENT OF POSTS
MTS DIRECT RECRUITMENT EXAMINATION FOR THE VACANCIES OF 2009-12

PART A - GENERAL KNOWLEDGE

Date Marks:25x1=25

Multiple choice questions - All questions carry equal marks
.These are to be answered by writing the correct option in your answer sheet

—L

National sport/game of India is
a) Cricket b) Hockey c) Football d) Chess
2 Viticulture in Agriculture refers to

a)Worm rearing b) Grape production c) Honey making djnone of these
3  Golden Revolution in Agriculture refers to:
a)Potato production b) Qil seeds production
c)Fruit production (apple) d) Egg production

4 The first State created in 1953 on the basis of language was
a) Andhra Pradesh b) Kamataka c) Maharashtra d) Assam
5 The number of players on each side of sporis-Foot ball is
a) 9b) 12 c) 11 d)7
6 In sextual production of the fcHewing plants, the first event involved in this is:
_ a) Fertilization b) Germination c) regeneration d) Pollination
7 Area wise smallest State in India is
a) Sikkim b) Goa c) Kerala d) Jharkhand
g Theory of natural selection was proposed by

a) Charles Darwin b) G.J.Mendell c) Jean Baptise Lamarck d)None of the above
9 The deepest Port of India is

a) Chennai b) Cochin c) Visakhapatnam d) Kanyakumari
10 The Indian citizenship Act was passed in

a)1950 b) 1952 c) 1954 d) 1955
.11 The interpreter and guardian of the Indian Constitution is

a) President b) Prime Minister c) Supreme Court d) High Court
12 The largest producer of diamond, Pannais located in

a) U..P. b) M.P. ¢) Gujarat d) Maharashtra
13 The body that framed the Constitution of India was

" a) Members of Assembly b) the Constituent Assembly
c) LokSabha d) RajyaSabha
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The place in India known as "Space City" is
a) Hyderabad b) Trivandrum c) Bangalore d) Mumbai

. The State/Union Territory that sends only one representative to the RajyaSabha is

a) Pondicherry b) Delhi ¢) Goa d) Chandigarh

One term is missing in a number of series -

Choose the correct alternative : 4,6,12,14,28.307

a) 32 b)e4 c) 62 d) 60

Cricket Club of India (CCI), classic Billiards and Snooker tournament was won by
a) Rahul Dravid b) PankajUdas c) PankajAdvani d) M.S.Dhoni

Find the number of triangles in the given figure:

a) 16 b) 13 ¢)9 d) 7

Candidates fighting elections can be disqualified if they fail to disclose the assets

information was pronounced by

a) Election Commission b) High Court ¢) Supreme Court d) none of these
Plastic currency notes are to be launched in the year

a) 2018 b) 2015 c) 2016 d) 2020

Paper currency first statted in India in

a) 1862 b) 1542 c) 1601 d) 1680

Bharat |l is connected with

a) Air pollution b) Water pollution

c)Land pollution d) noise pollution

The status of Election Commissioner is equivalent to that of the

a) High Court Judge b) Supreme Court Judge

c) District judge d) Magistrate

Who discovered circulation of blood in the human body?

a) Edward Jenner b) Joseph Lister ¢) William Harvey d) JonhanEsabs

- The momentum of a massive object at rest is

a) very large b) very small ¢) zero d) infinity
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DEPARTMENT OF POSTS SET-B
MTS DIRECT RECRUITMENT EXAMINATION FOR THE VACANCIES OF 2003-12
PART-B - MATHS

Date: Marks:25x1=25
Multiple choice questions - All questions carry equal marks
These are to be answered by writing the correct option in your answer sheet
1. The least prime number of 3 digit is
a) 102 b) 101 c) 100 d) 103
2. The unit digit in the product of 237x72x28x15 is
a) 6 b} 5 cjo d) 1
3. Convert the following decimal into fractions: 1,23
0.25
a)123 b) 123 c)12.3 d) 1230
25 25 25 25
4, The sum of 2 consecutive multiples of a number is 184. What is that number?
a) 8 b) 12 c)11 d) 232
5. [If total number of students in a school is 1000, in which 70% are Hindus, 16% are Muslims,
4% are Sikhs and rest are Christians, find the no. of Christians.
a) 150 b) 200 c) 125 d} 100
6. Calculate the following: 25.3+0.32+2.132
a) 277.52 b) 2.7752 ¢) 27.752 d) 2775.2
7. First and second numbers are respectively 20% and 40% of the third number. What
percentage is the first of the second?
a) 40% b) 50% c) 60% d) 30%
8. Pass marks in an exam is 33%. A student who secures 210 marks fails by 21 marks. What is
the maximum mark of the exam?
a) 700 b) 680 c) 720 d) 750
9, If A:B =4:5, B:C=6:7 find A:C
a) 28:30 b) 20:42 c) 28:42 d) 24:35
10. Rs. 1200/- is divided among Ram, Hari and Gopu in the ratio of 3:4:5. The share that Hari will
get is
a) Rs.300 b) Rs.500 c) Rs.400 d) Rs.600
11. What number should be added to each of the four numbers 8, 21, 13, and 31, so that they
become proportional.
a) 5 b) 6 c)8 d) 7
12. What is the mean proportional of 16 and 367

a) 22 b) 24 c) 28 d) 18

www.sakshieducation.com



13.

14,

www.sakshieducation.com
4
A shopkeeper uses 800 gm weight for each 1 kg weight and sells goods at their cost price.
What is the profit percent?

a) 20% b) 30% c) 15% d) 25%

An article is bought for Rs.40/-. For how much should that article be sold so as to gain 25%.

a) Rs.40 b) Rs.55 ¢) Rs. 50 d) Rs.45

15.

16.

17.

18.

19.

What is the rate of simple interest at which a sum of money doubles itself in 5 years?
a) 3% b) 5% c) 10% d) 20%

Ram deposited a sum of money in a bank which pays 10% simple interest. At the end of 5
years, he received Rs.30,000, then what sum he had deposited in the bank.
a) Rs.20,000 b) Rs.20,500 ¢)Rs.22,000 d)Rs.21,000

The average of 6 observations is 12. If the 7'" observation is included, the average is reduced
by 1. What will be the 7™ observation?

a} 5 bja c)6 d) 3

What rate percent does a man get for his money when discounting a bill due in 10 months, if
he deducts 4% of the amount of the bill,

a) 6% b) 5% c) 3% d) 4.5%

The average age of 7 members of a family is 18 years. If the head of the fami ly is excluded,

. the average age of the rest of the members would be 5 years less. Find the age of the head of

20.

21,

22,

23.

24,

the family?
a) 50 years b) 48 years c) 42 years d) 46 years

A scooter covers a journey in 9 hour with a speed of 48 km/h. Then how much the speed in
km/hour should be maintained Lo cover the same journey in 8 hours.

a) 54 km/h b) 52km/h c) 58km/h d) 60km/h

Conversion of one square meter in square feet is :
a) 9.5sft h) 10.76 sft c) 9.9 sft d) 10.5 sft

Conversion of 10 meter per second into km per hour
a) 40 km/h b) 32km/h ¢} 36 km/h d) 38 km/h

Conversion of 72 km per hour into meter per second is
a) 30 m/sec b) 20 m/sec c) 15 m/sec d) 40 m [sec

A and B each walks 24 kms. The sum of their speeds is 7 km/hr and the sum of time taken is
14 hiours. Find their speeds.

~a) 4,3 b) 5,2 c)1,6 d) none of these

25,

The banker’s discount on Rs. 1800 at 5% equal to the true discount on Rs.1830 for the same
time and at the same rate. Find the time.

a) 6 months " b) 12 months c) 4 months d} 5 months
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DEPARTMENT OF POSTS

SET.B

MTS DIRECT EXAMINATION FOR THE VACANCIES OF 2009-12

PART-C (I) — ENGLISH

Date Marks: 25x1=25
Multiple choice questions — All questions carry equal marks
These are to be answered by writing the correct option in your answer sheet
1. i just to tell my parents that | was fine
a) Called at b) called in c) called away d) called from
2. They managed to .................the fire before it spread to the neighbouring buildings.
a) Putin b} put off c) put away d) put out
3. We......... gather atthe school at 6 o' clock
a) Shall b} will ) may d) be
4. Ram was sleeping soundly........o........ | was working.
a) As b) while c} when d) since
5. lthinkl .............do it
al Wil b) shall c) can d) may
6. The Sun...............(shine) brightly when | got up this morning.
a) Shone b} was shining c) has been shining d) would shine
1. Mysister.,.......... (come) to visit me next week.
a) Will come b) would come c) has come d) comes
8. He handed over the report which he ............(wrote)
a) Has written b) wrote c) had written d) would write
9. Choose the synonyms: “caliber”

10,

11

12,

13.

a) True nature  b)first appearance c) ability of a person

You will be in serious trouble......................you work hard.

a) If b) unless c) yet

wresee e NE had done his best, he failed.

a) As b) Since ¢) Though

The bird is sitting .............the top .......... the tree.

a) of,on b) on, of c) over, of

When he joined Indian Army, he was supplied........coooun..... a gun.
a) with b) for c) by
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14. The thief was sentenced............. five years imprisonment.
a) On b) to c) of d) for
15. We came back ................ .year ago.
a) a b) the ¢) an d)none of the above
16. | woke up in ........... middle of the night.
a) a b) an c) the d) none of these
17. 1 will be back in half .............. hour.
a) The bj an c)a d) one

18. Give the antonyms of “Vanish”.
a) Disappear b) appear c) cruel d) bring

19. Give the antonyms of “Alive”
a) Coward b) old ¢} dead d) bold

20. Choose the synonyms. “Glade”
a) Anopenspace b) of high rank ¢t wealthy d) weak

Read the passage carefully and fill in the blanks in the following questions choosing the words
from the passage:

The great advantage of early rising is the good start it gives us in our day's work. In the early
morning the mind is fresh and there are few sounds or other distractions so that work done at
that time is generally well done. The early riser also finds time to take some exercise in the
fresh morning air, and this exercise supplies him with a fund of energy that will last until the
evening. By beginning so early he knows that he has plenty of time to do thoroughly all the
work he can be expected to do, and is not tempted to hurry over any part of it. All his work
being finished in good time he has a long interval of rest in the evening before he goes to bed.

21. Late riseris .........eimeens to hurry over to finish work.
a) happy b) tempted c) expected d) finished

22. In the early morning there are few ................... so that work can be well done.
a)energy b)time c) freshness  d) distractions
23. Exercise supplies .......couuu... that will last until the evening.
a) time b) energy c) freshness d) distractions
24. Early riser finds time to take some.......o....... in the fresh morning air.
a) exercise b) rest c) quiet d) peace
25. Early riser gets .......cocevveveenns in the evening.
a) fresh b) time c) rest d) energy
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SET-B
GOVERNMENT OF INDIA-DEPARTMENT OF POSTS
ANDHRA PRADESH CIRCLE

EXAMINATION FOR FILLING UP OF THE POSTS OF M.T.S (Direct Recruitment from
open market for the vacancies of the years 2009-12)
Part C-II (Regicnal Language-Telugu)

RaDODO! ... aEEDeD Ard) en: 25

RGOS DWAED D) VD TB306 VBEED TIM VATTIAVVE" VFDH VATT RV

) B OS5 (Dfoodin S0~ L0 DAFDIAW.

Ol. Rd IDE 0 ISLn SLn' 08) TrSiEw, D VST BDab Bed?

(A)  dsdodrdreocsdo (B) ertrsodrFouostdo

(C)  Syodrdvesdo (D) euardoos to
Dé. @05 = Qo8 + w8 ISR ]~ = R —

(A) G Vod (8) WG Rod (C) €D ol (D)odozeian 206

03. Beor T waoyen VY ?

(A) 3 (B) 37 (Cy16 (D) 14

- 04, Bewrd aris SBawen Dy ?

(A) 586 (B) 54 (C) 52 (D) 58
05. & S0 Trsjo 6°D Ad AdD wET Dy (DD, DTS DS fotsod.

DT DPPHR A8y SHRY S

(A) &8air DS (B) 205" posr o8 (C) &BoD DB (D) Do DS

06. & Sob T$oS' Y ardaird) HPoradn.

Trdoaby Sg5draie Sabeess o Dodd T set), B3 dbir Hod Dok

35’;"3-@-‘*-'-";1_ AN

(A) Sobéto (B) dwbodd (C) 28 cher (D) DOGROT D
07. s6)5i org) AT ..., Ca ke JFOTA N T T Sengra.

(A} Soydo (B) esoric  (C) irod (D) 8duvo

D8 . oranch eml::::.: deony’ Er‘-.“.rlﬂ"'éﬁn 2.8~
(A) 2org TS (B) ’muﬁ% TS (C) esarochd Jsio (D) 2o o°s(o
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09 . "o orgoe, TR0 ?" 00 Trsjo 328 airon?
(A) Fardy Stsjo  (B) 0o Trgio (C) Poatng Tsjo (D) S0F rggo
10. Trcd dy W 8, FET oD Dy, DT BEP' 95) TS0 ws-
(A)  Dord orggamw (B) QoY TS (C) waresss Trggo (D) S0k TS50
1. STy s e diuso o Gotod BJ) TEs’ &) &rSane D6?
(A) oo docd (B) esdre oo (C) Diao (D) &sotwod
112, '35,000 S'SRane TRBAMVIT DT WoBEINEY” By TEH®, D wwosTordy Bbuw
Dot ?
(A) sdbireestdo (B) drdswostdo (C) :;.5qu§ weostdo (D) wdsdirs woostdo
13. & 200 T80 ') Ad AdD AardS 2O ah wdo Gocsols.
B2oT® BT PEB0D DoR),G §ViH 85 SrHBET o0,
(A) S¥S0 Se93y e (B) 8¢ doodd Daore &R) &0 drpdoT) o (C) orer dood
DRairw drpdoTm) o (D) s¥0, 368w Ty aw
14, ‘B HOE Trorey’ W) TS0 &' DATDE oD WBood.
(A) B> (B) D6& (C) ovvecd (D) 94 s2edd
15. ‘T 0% 0o’ 00y DAED D WedS &oiTon?
A) rorded (B) 238 &¢ 2ed (C) 98 Vod (D) cHErds Vod
16. ‘A Docsiny S3° 8 6570 sOyen) on' ©90)6 D w0 EINIH Botodn?
(A) ©0A33Ers wwos 6o (B) sdyPuos*do  (C) edarewesde (D) drostucs to
17. & 808 T°gjos'D wﬁmﬁrﬂ;mgnﬁ::m.
DY R0t DEOIED D00 Gotwod.’
(A)  Dboen ' (B) =en (C) desasred (D) Swyb
18. T2 3% Traged’ 6o7 ) FEery @' &' &rdabo D67
(A) TR (B) orago (C) &G0 (D) SrcwSeny
19. & 306 SrgiReS” A ALD HEPDS PO DD RAFTGS0 DE?
PODSE (6 DE LrEdy
(A) 0By (B) €Dy (C) 88w (D) b

20. & o0& Trso SN AB AbD BETYY Addot) DB DAAIr (Dhfosod.
RIrDFS’ SADH DoRo s’

(A) 2 083 (B) poar D58 (C) 220 25§ (D) vavb Do
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& 208 IrEroT D) SAD, FBWAD B 0 DBALD DIrFrHo HBodec.

oD Trgd DR’ rEddEe 120 5 Fded Sod. 3 DoddGo 37.7 B
20060 DRV SLOVSD D T Fro LoD DEBITY L. TR Toord® e Brre wod DAD
080 DS 6,700 Fio By DOSOH. G TYTORN TG JowE BB V6 Do
Deorhe’S Byod. TEBBETS'D wotn TS’ 21 Tdo SLHDAID D IY THHWT AL
oo 50 JH0sw dwdvo SR ow. A TEEY 15 VLU Hod FRPL STWED WOSTS
$R0) JTRITY . Trtidyeerd® ITE, DB, 6D, 805 w VOS TS SotuT)aw.
Teorgd' 6Fabds dpon DoEn Jhomr Tdde, DOFMVOWE DeDE I DOTLW
g’ Suddo, I SIS DOFD SEEETRD.

D3 oPeeS VIIred ddwS’ Fords, € doa@odd. g S0 DD u-ffﬁuﬁ‘
Soirers 506 ;g'ﬁ" OCOH DEOBB. & O 860" Fwo, Jaabrd Do pnjforen,
TTPEHIFAEE, VTHG Jo Trogs pITLLTIOW. G Todw 6D 6 worrv ardod
SenRuod. FErad A0 BoTrord 2°6°) 00 6 DD, & 6 BGosS" b, B8O,
200689, SPI0o, HFvo Do) PRIESTL, Tradvog Do) TH3S DHTOT) 0. D El‘%oé"
Rords 770 35 ot 2OIY, S 6 720 55" Db pdiried. Aordd pd daddo,
TSoFed DG WIS SEFH. S HOS doof, BE, T WD SDIHGOW &T o, Bl Rorno
HOS 20od0, Frrard, S 6D, 00 SDHEILL &) 0.

21 . &gy 27’ DD wos drordd ey o’

(A) D'BE, DB, esdyus, 8BS (B) U'BE, B8, 2oS, Db (C) DS,
| 20D, ©50-y05, T (D) 2E85, T'BE, 2of, Sy

22 . 320 D J68 &DIO

{A) Fors0 (B) sy (C) rorraé (D) s=56

.23 .o D8 ey Dfoiots oo B0 2 Q‘a‘mt‘i‘ soby?

(A) 125 (B) 120 (C) 121 (D) 26 sco.

24 . 'Teab Janl’ DEyot WP BV St DD?
(A) e sg'*m DeID0 (B) dogoruge DaTrusy Sudio

(C) wcdpen H0Sto oD e dudbe ()8 steiyo du BT HIrew Sudbo
25 . Aorad 20 2 2grd” Swd pdIosT?

(A) gbodrib (B) Soireared Hrid (€) esbererd (D) 208
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SET-B

DEPARTMENT OF POSTS-INDIA
MTS DIRECT RECRUITMENT EXAMINATION FOR THE VACANCIES OF 2009-12
ANDHRA PRADESH CIRCLE

PART-A GENERAL KNOWLEDGE
Date: Marks: 25 x 1= 25
Multiple Choice Questions-All questions carry equal marks. These are to be answered
by writing the correct option in your answer sheet

0l. Rodalr ardah $¢7?

a) 33 b) %8 c) e5 ereS d) &&Cotio

02. "28s0y6 "(Viticulture) ©036 Si5IairDS Dowobod 3D DR ?

a)orRdarane Hobdo b) o8 Dotk &SNS c) 83 dasird d) 26 s*ao

03. "worrth D0 (Golden Revolution) e JiB53airAS Dowodod GO ATDXVoA?

sluwnfigw (worrvs |b)  AFd  Acze |c) Dok &9 | d) 54 g adg
B00D0) GG LNy (es23¢5)

04. &y ADOST 1953 & DO CBwAD 20658 o0 ?

a) sodDB% | b) St ! c) LTTY | d) @0
05. 25 &85 " 28 Bt &° &0l ST SEL Roy?
. a) 9 b) 12 c) N d) 7

06. :uJEy_Tr_:-r_'i‘ (Plants) Gofs ipdGaG (Sexual Reproduction) Dordoees” 2ureed wodo (Event)?

a) DORs0me | b) dwed ddow | c) oo Doy | d) Do DoDY)0

(Fertilization ) (Germination ) (Regeneration) (Pollination)

07. DT 65,336" DEVDOLS Dol oirs’ ©d D) TRo?
2)b3) 0 b) R E c) 26w I d) &g

08. 252 Joasg bgﬂuwal (Theory of Natural Selection) RaJr&odod?
a)85 &oS b) 2. 8. 2026 | c)AS erRD erar) | d) 96 S |
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09. e B30eS" wd S°8H L& 33) (Deepest Port) D&?

a) B2 b) § Wy c) dTpdL) 0 d) ETE0AT0

10. "eroo ﬂ“ﬁ;’aéﬁ weo” (Indian Citizenship Act) RodSGo” DdF DRecod?
| a) 1950 b) 1952 c) 1954 d) 1955

1. &rdd Teajorio AAs), Tefarid (Interpreter) &o605 DodE €He) (Guardian) Ja5t07?

| a) TR b) OTRdv0d | ¢) o §6 d) r 86

o

12, SO 08 IS &g SD "0 " (Panna) 28) ¢ &old?

a) &sHET b) Sl Tal) c) rfoaors d) DTN
13. 268 Trargorr Dy EFToBo0HA?

a) 92302 b) DO\ OSRICD o0 | ¢) 5528 | d) TR

RZjen (Constituent Assembly)

14. 5768 B308* "y HB” (Space City) Sgrdosseds D6?

a) ToTrerS b) Shogo c) Eorieirtd d) S0o08

15. @ Te Jor SodIDe Frodo .8 we HADAD (representative) TPRRES Dol)Sood?

a)  dodB6 [b) &b c) Ao d  Sodiné

16. R31ds Domge #3 (series)s® ag oy Fe. 2B DD DI HBosod.
2td =4, 6, 12, 14, 28, 30

a) 32 b) 64 c) 62 d) 60

17. .S58 885 e modosr (CCl), 5*8 i)ﬂnﬁ:g‘:} (Classic Billiards) 0803w ‘rJJ‘lSﬁ (Snooker)
£5°6) oot ARED) 67

a) oS & b) Dosd amrh c) D088 e d) do. H. 85
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18. R3S 5’6" Iy Gzbaswe 69) S Sufdoan?

a) 16

b) 13

c) 9

d) 7

19. 22y swes’ T’ RIS eZiden S RO IYCoBS BIDHLD HEBBSA?

a) JuLS DS

b) €

c) Foo Eg

d) b = ‘1

20. é*?gé Sew (Plastic Currency) 05% h%ﬁudﬁ‘mfﬁl Roddydo?

a) 2018

b) 2015

c) 2016

| d) 2020

21. shasy Sew (Paper Currency)eododsr ¢ es6ododndnd?

| a) 1862

b) 1542

c) 1601

d) 1680

22, or06-1l (Bharat-11) 322 HowodotddA?

a) ook Sheniyjo

(Air Poliution )

b) aw

(Water Pollution )

SPendye | c) @r STeniyo (Land

Pollution )

d) #8 s"endfo (Sound

Pollution)

23. LS SDds B8, For 000 Ford pDaroan?

a)rE'H Tjeisurs

b} Ao E§ Trjabdurg

c) &g Trjabaarg | d) 3)&%!‘5

24. 3730 %860 (Human Body) & 6 ©R6md(Blood Circulation) SRR 6 200 7

a)acgs 896

| b) &5 B6

5 c) oot :iﬁﬁ_c}

d) &&= =5 LN

25. w8 b Sawy (Massive Object) s (At rest) G D T @ s (Momentum)?

, a) e wdhso

(Very Large)

b} wrer

(Very Small)

Ao | €) B0 (Zero)

d) esdoso (Infinity)

-0)0|o-
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DEPARTMENT OF POSTS-INDIA

13

SET-B

MTS DIRECT RECRUITMENT EXAMINATION FOR THE VACANCIES OF 2009-12
ANDHRA PRADESH CIRCLE

Date:

PART-B MATHS

Marks: 25 x 1= 25

Multiple Choice Questions-All questions carry equal marks. These are to be answered
by writing the correct option in your answer sheet

01. 3 Hnﬂw 3] ‘;:nqasueﬁ‘ (Number of 3 digit) esd WY DR @oay (Prime Number) 2&?

a) 102

b) 101

c) 100

d} 103

02. 237 x 72 x 28 x 15 cws), vwaw (Product) &° pare Doy D6?

a) 6

b) 5

c) O

d11_1

03. &: S06 G707 (Decimal) A&y orr (Fraction) ar6yed? 1.23

0.25
a) 123 b) 123 c) 12.3 d) 1230
.25 25 25 25

04. 08 2208 ws), Dot SR rbcdonrw (Multiples) 2wadn 184, e SEE D7

a) 8

b) 12

c) 1

d)

232 W

05. ws a6rid & &dy 1000 Hvod aw5g>ue3‘ 70% rocoapen, 16% SwhHdwen, 4% SEORIY
Sodain HABD T S0 oS $H01H Vo Jod?

a) 150

b) 200

06. & L'J'ébcu.ﬁ.'h;ﬁ.':.w? 25.3 + 0.3¢2 + 2,132

c) 125

d)

100

a) 277.52

b) 2.7752

i c) 77.752

d)

2775.2 w

07. 2006t 200Dy Bocd Doajen, JFED Loajs’ 20% oL 40% IEAMT D &) D. Lo
octad DoD(ES" D Vow§ Jod FTo?

a) 40%

b) S0%

d)

30%
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08. &8 HOLS" &Ry D 33% Jrdyw B3VCAD. 210 ST SND dorge, 21

Sree a8 D BDNTED. &8 DELS (1633 S o) Doy Joth?

a) 700 b} &BOD c) 720 d) 750
09, A:B=4:5, B:C=6:7 0055 A:C=
a) 28:30 bh) 20:42 c) 2B:42 d) 24:35

10. 1200- drdraben 3:4:5 NGS” T, T0 0cin FY DG DBLSESD. P o6 Trerd

8oy irmn&_ ot ?

a) dr. 300-

b) d». 500-

c) dx, 400-

| d) &, 600-

11. . 8, 21, 13 Hobcdin 31 eodd @oSen/Romien WFG (Proportional) e, & mraord
©oSen/Popjud P3 TS D wod A LUDHTH?

al 5 b) 6 c) 8 d) 7
12, 16 S0dosw 36 diog), Aritw vdoard (Mean Proportional)doed?
a) 22 b) 24 c) 28 d) 18

13. 28 Irod, 1 82 poOPND-200 rave arsdy can o8, SRopudy §H) GoD
RO EORT) €. DA 95D OFZ FAAL o

a) 20%

b) 30

c)15%

d) 25%

14, 28 SR0P 4. 40- S EA0AHB. 25% rghmw Totwr, e IR0EDR0 Jodw) €9330) ST R0 ?

a)40

b) 55

¢} 50

d) 45

15. D Fraray Og Gen &, oo Taw)- 06 (5) Dods6anues” Betr?

al 3%

b) 5%

c) 10%

d) 20%

16. 10% Frard) o @iy 28 erjel &, 05 Sod Ty AF 2 SHTD. 5 VoSS GEVY JUNI
©3 30000 draraben TodHS, 0 erjel & adrai 3dd Taw) Jos?

a) dor 20,000-

b) &» 20,500-

c) d» 22,000

d) &» 21,000
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17. 6 Do7wsdw (Observations) alos), Rritw (vordB) 12. 7 & 98205 (Observation) €055 Hnkw
(R078) S (1) Srbay. wonssS 7 3 D6%es (Observation) dos?

a) 5 b) 4 c) 6 d) 3

18. 10 do0H s 6d) 85 Je dwg) Taw) e’ 4 % SHowES a8 353 85 Taw©H Jod
T Todorn?

a) 6x% b) 5% c) 3% d) 4.5%

19, Db (7) RFFRVAY 25 SIS ::E:u:ﬁb A0 (PDornd) dobi 18 RodSyTawL. SHiEvow

DGR AT aweDHST, oAdd PZL g, At (RURO) JoHR 5 DoBdGANLD SR,
a5 100 DG Doy SR B,

a) 50 Roddydanew b) 48 Rodddden | c) 42 R0DB G | d) 46 Dodedaen

20. fotash 48 36" otrg DAANE ws wr LD Sod ArcHwEy 9 fowwd® pairdomd. o
BrE80%0 8 fotwd” DoIrrosdTD), A Om Jod Bridwd Hoirdodsdn?

a) rotdgy 54 320, | b) ooy 52 &. Db, | ¢) retyss 58 2, B, d) dotas 60 4. H,

21. 28 SA05) A BE6) wcirees's B8 H, B8 Jod DAFDD0T

a) 9.5 e, b) 10.76 . . c) 9.9 . e, d) 10.5 &. e, |
22. S 10 GRO- Mot $65°GE'E ooy nS'=
| a) fiotrs> 40 .50, | b) rots 32 2 5. 1 c) oty 36 3.5, d) fotash 38 &, B, 1

23. ot 72 $&'Dotag Dridwin- BERL ey ' Ao S Dridw=
a) DSAD 30 Dby | b) PERD 20 Dok | €) DERD 15 Dobadd | d) D0 40 .‘:mgq

24. A 206050 B 56 cns 24 36" Dtadh HADT . T°0 DAL ), Dddw ot 7 65 ki
206050 SROHDY HIEHIZN GO, VB 14 fokien. BAHS 6 DLy Jo?

a) 4,3 b) 5, 2 c) 1,6 d) 26 sred

25. 67 1800- p 5% T oaw erjesb dins) Sfowy (Discount) , 08 stodn(Time) % wé 865 & dr
1830-  Ja dhozy (True Discount) £ HAFH2HSE, sTodw (Time) do?

a) 6 Pwew b) 12 Deen c) 4 Deen d) 5 Reoew

-0)O(o-
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